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QUESTION 1

Which of the following is NOT one of the seven Quality Tools identified by Ishikawa?
A. Control Chart

B. Run Chart

C. Regression Analysis Chart

D. Pareto Chart

E. Flow Chart

Correct Answer: C

QUESTION 2

The Net Income (Loss) before taxes minus accounting tax effect on income is:
A. Income (Gross)

B. Net Income (Loss) before Taxes

C. Income (Loss) from Operations

D. Net Income (Loss)

Correct Answer: D

QUESTION 3

Performance Based Contracting (PBC) helps:

A. In vendor identification

B. Manage the custom developed product

C. All of the products developed by outside individuals

D. Manages the interaction between a software vendor and a requesting organization

Correct Answer: D

QUESTION 4

When a person does not know some of their own qualities but others are aware of those qualities, this can be mapped
to in the Johari Window.



A. Fa?de

B. Blind Area

C. Hidden Area

D. Open Area

E. None of the above

Correct Answer: B

QUESTION 5

Which of the following is installed and operated with no modifications by the purchaser?
A. COTS

B. GOTS

C. MOTS

D. PBC

Correct Answer: A

QUESTION 6

A program validates a numeric field as follows:

Values less than 100 are rejected, values between 100 and 200 are accepted, values greater than or
equal to 201 are rejected.

Which of the following input values cover all of the equivalence partitions?

A. 100, 110, 199

B. 3, 200, 210

C. 80, 100, 201

D. 100, 200,201

Correct Answer: C

QUESTION 7

In Tuckman\\'s Forming-Storming-Norming-Performing Model, Agreement and Consensus is largely formed among
teams during the:



A. Forming Stage
B. Storming Stage
C. Norming Stage
D. Performing Stage

Correct Answer: C

QUESTION 8

A Change Control Board (CCB) is like an inspection agency.
A. True

B. False

Correct Answer: B

QUESTION 9

-- Exhibit -

A < &

-- Exhibit -With regards to Entity Relationship Diagrams, the diagram is a:

A. One to one

B. One to zero or one
C. One to many

D. One to zero or many

Correct Answer: C

QUESTION 10

There is a high dependence on the leader for guidance and direction, little agreement on team objectives, and individual
roles and responsibilities are unclear. This situation is part of the Stage of the Tuckman Model.

A. Performing
B. Norming

C. Storming



D. Forming

Correct Answer: D

QUESTION 11

Creating a baseline of current performance is part of planning phase.
A. True

B. False

Correct Answer: A

QUESTION 12

Which of the following is the correct definition of the Quality Attribute Maintainability?
A. Effort required for modifying operational system

B. Effort required to ensure that the system performs as its intended

C. Effort required to locate and fix an error in an operational system

D. Extent to which a program satisfies its specifications

E. Extent to which a program can be expected to perform its intended function

Correct Answer: C
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